202 3% E8H ETC2.0 (DSRC) EiERIFE

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 4,111 165 21 249 413 192 4,959
SRR 1,053 67 8 60 163 32 1,351
aF= 983 76 6 64 165 46 1,294
=R 2,749 67 7 127 434 164 3,384
AR 897 20 1 26 171 39 1,115
LR 1,254 40 4 48 193 58 1,539
EER 2,172 83 6 98 388 128 2,747
KR 3,999 185 5 217 721 228 5,127
N 2,633 61 13 121 525 197 3,353
HER 2,920 132 7 164 553 186 3,776
BEE 10,735 368 24 709 2,553 761 14,389
FEE 8,121 254 18 488 1613 558 10,494
RRED 15,641 277 38 718 3472 1,848 20,146
fESNS 13,011 241 14 544 2,794 1,319 16,604
Hino i 1,942 130 3 117 391 113 2,583
2R 1,020 50 0 45 180 61 1,295
alllR 1,324 61 1 39 221 107 1,646
BHE 990 24 3 36 159 47 1,212
LLBR 1,024 27 2 46 257 81 1,356
REFE 2,432 81 7 106 495 196 3,121
I RIS 2,678 122 0 97 527 196 3,424
EEIR 4610 189 4 190 1,121 431 6,114
BHIR 13,515 401 23 428 2,132 935 16,499
=ER 2,335 96 1 64 474 170 2,970
BER 1,797 59 0 70 287 88 2,213
RERRT 3,077 97 8 114 554 256 3,850
ABRAT 11,495 458 43 860 1,894 874 14,750
"ER 6,053 179 7 187 1,140 478 7,566
ZRE 1,383 71 3 56 205 65 1,718
AL 942 46 2 38 190 62 1,218
SR 599 18 0] 10 100 26 727
ERE 720 30 3 21 149 27 923
A L= 2212 124 0 93 468 140 2,897
LBE 3,327 161 4 139 656 265 4,287
Hijm[= 1,658 42 4 31 288 65 2,023
e 743 24 1 17 124 29 909
&HIIE 1,030 88 0 43 221 82 1,382
BER 1,214 33 0 45 276 113 1,568
=R 565 22 0] 26 121 29 734
ERR 6,000 253 16 300 951 372 7,520
EER 660 64 1 32 173 45 930
RIBE 823 27 2 25 198 59 1,075
HEARIR 1,569 52 4 57 270 111 1,952
AHE 1,062 33 1 34 214 70 1,344
=IFE 1,044 24 1 54 191 41 1,314
BREE 1,301 41 7 44 268 101 1,661
FHEE 616 7 3 4 73 35 703
tT=4 0 0 0 0 0 0 0

a&t 152,039 5,170 326 7,101 29,126 11,526 193,762
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B[R] 3,111 111 7 177 325 138 3,731
SRR 900 30 1 29 141 24 1,101
aF= 742 54 0] 39 125 30 960
=R 2,127 36 6 75 329 108 2,573
AR 700 16 1 14 147 28 878
LR 1,032 24 0 33 173 48 1,262
mEE 1,737 46 4 64 324 96 2,175
KR 3,027 115 1 143 571 149 3,857
N 2,059 38 7 88 429 149 2,621
HER 2,350 75 1 105 462 132 2,993
BEE 7,845 269 8 533 2,070 512 10,725
FEE 6,052 186 8 341 1,344 415 7,931
RRED 11,444 189 9 524 2,937 1,528 15,103
fESNS 10,173 165 7 398 2,344 1,054 13,087
Hino i 1,464 78 1 76 323 77 1,942
2R 816 36 0 26 156 50 1,034
alllR 986 43 0 23 180 83 1,232
BHE 793 18 2 26 128 33 967
LLBR 802 20 0] 37 218 63 1,077
REFE 1,884 49 2 79 411 155 2,425
I RIS 2,086 61 0] 65 441 148 2,653
EEIR 3,647 97 1 140 943 336 4,828
BHIR 10,579 239 16 278 1,764 718 12,876
=ER 1,922 62 1 43 387 129 2,415
BER 1,507 31 0 37 235 62 1,810
RERRT 2,556 58 0 70 420 170 3,104
ABRAT 8,875 294 14 611 1,501 615 11,295
"ER 4,729 116 2 123 909 338 5,879
ZRE 1,121 46 0 43 162 46 1,372
AL 729 28 0 25 153 44 935
SR 482 12 0] 6 78 18 578
ERE 598 20 1 10 128 15 757
A L= 1,764 69 0 61 402 99 2,296
LBE 2,752 105 2 87 522 192 3,468
Hijm[= 1,421 24 1 22 246 51 1,714
e 623 17 0 12 100 20 752
&HIIE 799 74 0 31 175 55 1,079
BER 950 23 0 29 210 70 1,212
=R 476 15 0] 22 112 26 625
ERR 4,661 167 3 176 758 271 5,765
EER 530 23 0 17 151 36 721
RIBE 682 18 0 17 146 40 863
HEARIR 1,269 28 3 30 221 88 1,551
AHE 848 18 O] 19 172 55 1,057
=IFE 881 18 1 19 161 35 1,080
BREE 1,094 23 0 23 233 84 1,373
FHEE 496 7 1 1 60 28 565
tT=4 0 0 0 0 0 0 0

a&t 118,121 3,291 111 4,847 23,927 8,661 150,297




